EARAZROREIERT — 2 N—XBISY —F 20215E8H9H (A) 6mEN4H

m C2—4 C2 ¥#5%—M B R
[A&4£] 1 7% :600,000  ~ 23#&:210,000 ~ 33#&:120,000 @ . 4 37#&:90,000  ~ 5 7 :60,000
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
= e FEllEGIN 124, 02— . — 2E— (BH)
N . REES . o7 il 1(2_4)2 3-2-2-1 | 40.4 5 (4_711) i%%j(
¥y v¥/F¥EF B:hL/bYb [Eate]
N N BREE 124. —5-5- . - 2iEE— (BH
1 . RSN o ED aam | T Y [eEx
L:/TURN B:xAINTAT IIIT5TT— L
. N = =S 124, -3-3- . - ITHER (&H)
3|5|5 avhlrTy # o4 5',%{;_0 1(214)7 2353 1409 2 (5_015) B4k
L:FT7A4T7 BT RIAVHyoa ARAINT7— L
= . as Rl : 77— - TFFA (BH)
JMel FoxbIvI i 7 e 1.(235).3 9-7-7-6 | 40.4 9 (4:133; e
R:ZAN—3IFFR—L B:214¥TLYa—FK it R
Sap = o —=sa ZHERD 105, -9-9- . — RIFFET (SH)
5lglg| NYTHIIFL 9 zu 1(725t)3 8-9-9-5 |40.3 6 :1_748) E%%-T—
L:xrindO— B:TUF4—XT— HHEMS
S8 pe EEEE :25. =il=il= 9| - EEmE (SH)
6l1]1|21LxTHF—/N- i 4 s 1(225)7 1-1-1-2 | 41.9 8 (4_659) e
LW—RYL K B:I+—7 peleie)
¢ S > 5 | BEEX 1:27.0 4-4-4-7 |42.6| — 7 458 | FHIA (BHD)
71l8lg| I/ A% 77 560 © () | ERETHEA
R:€r/07nq4 #8755 vax—-Ya REE #uim
S . BABR : ~6-8- — BBaX#H (BH)
8 0| FTLAT—K i 3 o 1.(217).2 5-6-8-8 | 42.3 1 123)2 fﬂilu]%@f'g
R:YZRE—3IZ2— I FLZXTT ELagae]
=3, o7 | BB 1:27.6 7-8-6-9 |42.7| — 3 518 | BFEZ (&)
9l7l7|F7L7o>9F 56.0 @) -2 | (B)_JPNEH
:trsnJaqd4 B:FLZY4a weESHE
® I—F—&EBIERL
1Sl=3F= 1,5,3,8,2,4,7,9,6
2ol=5"= 1,3,5,8,4,2,6,7,9
§T=5r= 1,3,5,8,4,7,6,2,9
41—F— 3,1,5,4,9,6,8,2,7
[ RN
B 3 1,630 794K 3-4 910M & 3-4 3,700 &R 3-4-5 3,040/
# B 3 280M & 450 B E 3-4 3,720M EE 3-4-5 33,980
4 170 4-5 370M B H 3-4 7,550M
5 160/

ARICOVWTRDTEEERROODE. TR LIV,



